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(A)log,(—3) +log,(—5) =log, 15 (B)log,(—3)% =2log,3 (C) (log5) X (log5) = log25
log 27
log9
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(A)a = 3¢ (B) log, ¢ = % (C)log.Vab=9 (D) c¢*  (E)log.b =15

(D) = log3 (E) 2'°82° = 9

- U NSEEUBRIE?

(A)V2—-32 (B)log,3—1 (C)logz2—1 (D) log1 3 (E) 10g1%
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(A)n >0 (B)a>0 (C)a=0 D)ym >0 (E)ym <1
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(1) logs 2 +log,5 125 — log%\/g =

2) 1 7+51 2-1 14+21 3=
2 08 22 og 08 oo 0g3 =
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(3) log,(9"#7) + (log,3) ( log:1 49 ) =
3

3. BTNISAREN:
(1) (0.2)*¥*73*2 > 0,04 o

(2)logi(x =5) >logi(x—=3) -

A2 =—x+28

Elogu-1)(7-3a) BRE ' RISH «WEER

RERy=3MHy=12DBIXRy =2 R4 BME ' BIRER AB IREA

Ra=1log,3°b=1log;7  FHLLla~bFmRlogs2l =

12 logs x — 2log, 3 = 1 AUfRA x =
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Y f(x) = logx BIBA LHMA A(a loga) * B(b,logh) » & AB BIMER - b—a=18 Ala+b=

BEX0 2% -1 2—{B&#HE log2 ~ 0.3010 -
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N(x)=a+blog,(x+1)
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log, 5

3.2)

3<x<4dorx>7
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